Let's look at an example of each puzzle MaguaC 5
Plus and MaquaC 5 Minus.

MaquaC 5 Plus

In the example below you will have to identify the
equations which are represented by all the numbers
In row a, ¢ and e and all the numbers in column 1, 3
and 5. You find the solution by circling the results.
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A solution to the puzzle using Plus Only is:

A 16| 7 [

E 0
40 9 | 8 | 3
o (2 2 2
- 6 | 7 | 7
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The supporting equations, which are normally not
provided, are:

16+7 =23
92 = 9+83
20 = 6+7+7
1349 =22
7+19 =26
30 = 3+27
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MaqgquaC 5 Minus

In the example below you will have to identify the
equations which are represented by all the numbers
In row a, ¢ and e and all the numbers in column 1, 3
and 5. You find the solution by circling the results.
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The solution results to the puzzle are:

1 @ 2
AlICED| 2
8l 5
d 7 | 1
o| 1
8 | 7
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The supporting equations, which are normally not
provided, are:

6 =21-15
71-2=69
87-8=179
81-75=06
8-1-2-4=1
58-9 =49
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